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A earbon resistor of (47 £ 471 kil is to be marked
with rings of different colours for  its
identification. The colour code sequence will be

(1) Viclet - Yellow — Orange — Silver
¥ Yellow — Violet — Orange - Silver

(3) Yellow — Green — Violet - Gold

(4] Green- Orange - Violet — Gold

A battery consiste of a variable number ‘n’ of
identical cells (having internal resistance T

each) which are connected in series. The
terminals of the battery are sheort-circuited amd
the current | s measured. Which of the graphs
ehows the correct relationship between [ and n ?
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A set of ‘0 equal resistors, of valoe ‘B’ each, are
mnguﬁuﬂinuﬁmm_ahau-nryu!amf'ﬂ 3.13&
internal resistance B’. The current drawn is L
Now, the 'n’ resistors are connected in parallal to

the same battery. Then the current drawn from
httarjhﬂmmmlﬂl.‘lhh]weuf'n’is '

LI L]

-

An electron falls from rest through a vertical
distance h in & uniform and vertically upward
directed electric field E The direction of electric
field is now reversed, keeping its magnitude the
eame. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison b the time of
fall of the proton is /{

smaller L

{2} B times greater 1
(37 10 times groaber
{4) equal

A tuning fork is used to produce resonance in a
glass tube. The length of the air eolumn in this
tube can be adjusted by a variable piston. At
room tempersture of 27°C two BuccesgEivE
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
iz 320 Hz, the velocity of sound in air ak 27°C is
(1) 330 m's

{2) 339 m/s

(@) 3850 mfs

(4] 300 mis

A pendulum i hung from the roof of =
sufficiently high building and is moving freely to
and fro like n simple harmonic oscillator. The
accoleration of the bob of the pendulum is
90 mis® at a disgtance of 5 m from the mean
position. The time period of oscillation is

(1) 2ne bz W
A2 %8 e gz RS
(3 2s s ™

T‘-‘:-ﬁl‘ w.— m‘.}f
4 1B ﬂ““ﬁ el a~

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having &
charge @ and area A, is L

t\[jyi.uﬂapendeut of the distance between the
# plates.

hetween the plates,

b e R M (2} linearly proportional to the distance
w1 : fﬂ?h : uﬂ:ﬂfﬂg Nk % between the plates.
@ 1 - y g fﬁftl'-‘ W=l T (3) proportional to the square root of the
(3 20 P—Eﬂ’ £ b 3" digtance between the plates.
@ 9 F""""-""J"‘I"'-} “1‘."..,;. : i4) inversely propertional to the - distance
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8. An electron of masa m with an initial velocity [12- [In the circuit shown in the figure. the input
—* A -
Va=Vyi (Vy= 00 enters an electric field valtaps Vi 8-00 ¥, Vpg = 0and Vg = 0. The
—5 i vialues of Iy, 1 d b
E =-Eji (Ep=constant >0 at t = 0. If 4, is S [:lvenm:rv
its de-Broglie wavelength initally, thean its
de-Broghie wavelength at time t is Ry < 4k)
g, Ry C
e
[l+%t] v, =
L s00ka B S,
g .
(2 lﬂ[l+ﬂltJ s ST
. 5. %
(3) Agt o Ip- T a3
- =2 X i [
W i (1) Ig=40pA, Io=10mA, fi=250 r'-?"rﬁ 5‘14
@ Iy-2pA, lo=5mA, f=200 B
B. When the light of frequency 2v, (where v, is “ " =Hﬁ e
threshold frequency), is incident om & metal (3) Ipg=20pA, lo=5mA, =260 c i;
plate, the maximum velocity of electrons emitted LTe*® B0 xlo
In=40 =8 =126
i v Whan ke feaquiner of the fnadest] eI BS0EA, Tontimh, § W
rad.i.nltiun 15 inr.'.rta.aaad. to Swy the maximum(qg 14 the combination of the following gates the
Telﬂﬂgh:f LE*TM ::"f@ from the same PIale | output Y can be writien in terms of inpus A and
| r ol v Yo 15 =
3 4 T o hge Lay® B as
L SRS N oo % As
(@ 14 -ve=Ve puv ° B [ ;}a
(3@ 4:1 54-“L=“‘1"‘=%.g% -
= H"i' W -
o 2:1  LFEk HL W
: 4 M vy [~
10. For a rodioactive material, half-life is
10 minutes, If initially there are 600 number of
nuclei, the time taken (in minutes) for the (1) A.B
disintegration of 450 nuclei i= oo 3 doy o A
Mg so. 0L e @ A.B+A.B
(@ 10 "5;, 6a0:3 Besy 150 AT A.B+A.B
L f
a1 30 i
Y : @ A+B
(4) 15
11. The ratio of kinetic energy to the total energy of{14% 10 8 p-n junction diode, change in temperature
an electron in & Bohr orbit of the hydrogen atom, due Lo heating
ia (1) affects only reverse resistance
1) 1:1 (2) affects only forward resistance
- {3} does not affect resistance of p-n junction
3 2:—-1 {4) affects the overall V - I characteristics of
(4) 1:-2 p-n junction
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15.

16. Three objects, A : (a solid sphere], B : (& thin

17. A moving block having mass m, collides with

1B.

A body initially at rest and shiding along a
frictionless track from a height h (ag shown in
the figurel just completes a vertical circle of
diameter AB = D). The height h is equal to

(— =

A
4
m 3p
2
2y D
7
’p
ol 3
‘b
S :
. s L wap.”

circular diek) and C : (a ci 1, each have
the same mass M and radius R, They all spin
with the same angular epeed w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

LA W Wi W pu 0@ F Ve
(3) Wg>W,>W;

Wy MV

F" R _'L'tf"r"f"l
“.q'F 1"'5""'1-

another stationary block having mass 4m, The
lighter block comes to rest after collizion. When
the initial volocity of the lighter block is v, then
the value of coefficient of restitution () will ba

(1 06 s Vo-Vio
025 U O
{3} O-8 =
PRV, J
) 04 ek s

—v,-0

a

Which one of the following statements is

incorrect 7

(1) Rolling friction is =maller than sliding
friction.

(2)  Limiting value of static friction is directly
proportional to normal resction. %= gl

(3) Frictional force oppases the relative motion.

— 5 A 0y
19, The moment of the force, F=4i + 5] -6k |
(2, 0, - 3), aboul the point (2, -2, - 2), is given t

(1) —B1 —43 =7k
& ] A
@) —d1 =} <ak
& A M
(3) -7i -8} -4k

& “ r-.

4] -71 -4 -8k

20. A toy car with charge q moves on a friclionle
harizental plane surface under the influence of
uniferm electric field E . Due to the foree q]
its velocity increases from 0 to & m's in o
second duration, At that instant the direction
the field is reversed. The car continues to mo
for two mora seeonds under the influenee of t]
field. The average velocity and the average spe
of the toy car between 0 to 3 seconds &
respectively W= U4 ar &= 6ian

2 mfs, 4 mis
ugjll Ll m's, 3 mfs b= AF d" -6 -:_d.ru::l-
(3 1mds, 35mis =G A=
(4] 15mfs, 3mis Wy *.‘;':IE'

21. A student messured the diameter of & a'rmfrst
ball using a screw gauge of least com
0-001 em. The main scale reading iz 5 mm
gero of circular seale divigion coincides w
25 divisions above the reference level. If ser

gauge ha.a:_a gero error of = 0004 cm, the con
diameter of the hall i '3
(© M) os2lem | gF BerAXOE 3t
{2y 0525 em =Th %} -
(8) 0053cm oy » 5 A b
LAY 0529 em ez =l

22, A block of mass m is placéd on a smooth incli
wedge ABC of inclination § as shown in
figure. The wedge iz given an acceleration
towards the right. The relation between a an

E-f‘? Ifurthe block to remain stationary on the we
is

1} a=

(2) a=
s B

w#" Coefficient  of friction  has (3) a=geoso .
dimensions of length. Qg B | 4) a=gtanm ~ .
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i 5360x10' K

The volume (V) of & monatomic gas varies with
its temperature (T}, as shown in the graph. The
rotio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

B
A
o - =y
() %
(2 §
(3 %
() %-

The fundamental frequency in an cpen organ
pipe is equal to the third harmonic of a closed

organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 132cm

(2) Bem

(% 125cm

(4) 16cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth's atmosphere ?

{Given

Mass of oxygen molecals (m) = 276 = 107°° kg
Baltzmann's constant kg = 1498 x 1072 JE )

(1 2608x10°K %hvf‘

- ltn"‘lﬁ;fﬂ":' e

(3 5016x1'K

27.

9.
B Typla
" "“B 1--"' _—-H'I
-2 ho ¥l g

Unpolarised light is incident from air on 8 plane
surface of a material of refractive index ‘p’. At a
particular angle of incidence ¥, it s found that
the reflected refracted rays  are
perpendicular to each other, Which of the
following options is correct for this Hituuti.Q?

(1) Reflected light is polarised with its electric
veetor parallel to the plane of incidence
Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence :

1 b1

u) |

1] AL FARE

(4) i=tan” [—
Tl

and

(3 i=nin"‘[

In Young's double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the sereen and glits is 100 em. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21% (with same A
and [} the separation between the slits needs to
be changed to

{1
(2)
{31
(4)

1'8 mm
149 mm
21 mm

17 mm

An astronomical refracting telescope will have
large angular magnification and high angular

i
Sl s ek _ - resolution, when it has an objective lens of
26. The efficiency of an engine working :
h!:l.rtt.l:l the freezing point and boiling point of (1) small focal length and large diameter
water, is O A i s S (2) large focal length and small diameter
B . :
g; zﬁ XL 3443 (3) large focal length and large diameter
(3) 625% ':'I'.I‘E‘lﬂ“:‘ "'Ir R (4) ° small focal length and small diameter
4) 126% Y1 U ylio
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30, An om wnw: is pmpagutmg in 8 medium with a|34.

velocity ‘v = Vi, The instantaneous oscillating

eloctric field of this em wave iz along +y nxis

o L
B = ﬂﬂ'lﬂ 1;1}':‘-1 S AN
h B3

Current sensitivity of a moeving coil galvanometer
i § divimA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/y.

The resistanee of the galvanometer is Xt

Then the direction of oscillating magnetic field of Ul 400 & -5 %*‘ s =V

the em wave will be alon 511(}'} Vv=1£(2) 250 ] o w‘”v s

],.r'“f -z direction ; H.L'; 'H:.I:F‘;J p=w.i3} 2500 E E-JII.-?F'U‘
(2)  +zdiroction. 3 5 T so0q o
T B -txio 8-20x3@ e

(3) -y direction T g 36, A metnllu: rod of mass per unit length

(4} = x direction {-}FI'E*I'IR} =vylo 05 kg m™ is lving horizontally on a smooth

> .‘LE‘E;! inclined plane which makes an angle of 30" with

d1. The refractive index of the matenj of & prism is
V2 and the angle of the prism is 30°, One of the
two refracting surfaces of the prism is made a
mirrar inwards, by silver coating. A beam of

the horizontal. The rod is not allowed to slide
d.w'uhjﬂuwingaﬁmentt]!‘n-nughitwhma
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

munnl:hmrna‘r-.:i: light entering the prism from .tht* Q) TiEA Tatnfanl
other face will retrace its path (after reflection e = |
from the silvered surface) if its angle of incidence ®  14T8A g0 Xlo i
5 " Gn, Ll
unl.ha.pnumm '.hl‘f-g (4] 1132 A i_ﬂ=U1 In,,_-,vp;ln
(1) 60° ™ £, Ix e
@) 45 x4 36. An inductor 20 mH, a nﬂpﬁmr 100 puF and a
' !L- £ resistor 50 2 are connected in series BETOSE o
(3 30° ),E r:,, source of emf, V = 10 gin 314 t. The power loss in
(4] zero u Wt the ircuit is PogR .
ject is placed at a di f 40 em fro o
42.  An object is placed at a distance o cm from a g v .ﬁgmﬂ
concave mirror of focal length 15 cm. If the object | 2%

: is displaced through a distance of 20 em towards
%_ncmimr the displacement of the image will be
- (1) annwajrhmthamimr% J—*
Lﬁaﬂmﬂﬂﬂjﬁ'ﬂmﬂ!ﬂmh‘_'
(3} 30 em towards the mirror |5 Lo

(4} 36 em towards the mirror l F T'F }..',,.':‘3

Y

-rl'.r

coe

-"E 3) 274W

ag, (4) 113w

HT‘;_?ﬁthmdmmagnuh:mdmpimﬂTuﬂuﬂ}-

Hb&bwmmawhaufmdnctnmmﬂhuthﬂ
5% current in the electromagnet is switched on, then
lﬂmium:gmhcmdmpuhadup.mtufﬂu
herizontal magnetic field. Hence the rod gaing
gravitational potential energy., The work

a3, 'l‘h:mngueﬂcpntenﬁalmargy:hmdinam-tain ired R :
inductor is 25 mJ, when the current in the a mmdﬂmm%ﬁm
inductor is 60 mA. This inductor is of inductance st oo
(1) 0188H _lﬁ th"’-m‘“"‘“'l R
@ 13888 H (3 ﬁlnmm structure of the material of the
B MWH . @ the inducsd electric field due to the
7 13-89 H changing magnetic field
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40. A sample of 0-1 g of water at 100°C and normal

g8, A small sphere of radius r" falls from rest in a |43,

viscous liguid. As a result, heat is produced due
o vizeous foree, The rate of production of heat
whon the sphore stinins its terminal velooity, 18
proportional to

m
(2 r
M
4 r

43,
radiates maximum energy at wavelength, A, If
the temperature of the black body is now
changed mthnt:tradlammanmumenmﬁat

wavelengih .'-.,, the power radiated by it
becomes nP. Thil\ralue of n i - &6AT

‘ A

39. The power radiated by a black body is P and it

A solid sphere is rotating freely about jts
Evmmetry axis in free space. The radins of the
gphere 5 increased keeping its mass  same.
Which of the following physical quantities would
remain constant for the sphere 7

(1) Anpular velocity

{2) Moment of inertia

{3) Rotational kinetic energy

Angular momentum

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K: Eg and K, respectively, AC is the major
axis and SB is perpendicalar to AC at the
pogition of the Sun 8 as shown in the figure.
Then

ﬂﬁ E1

3 Fl..- '!'l "I i
10 haEG—r
VeV >VR -
(2 i :11 ¢ o
3 = 3 5., M) Ky<Eg<K;
(1) E ) T35 }Tl(ﬂ}l E,>Ep=>Kg
Bl F
1 iy ApLA# Ep<Ky<Kc
W = 18- oW T e _
256 = (4) Eg>K,>Kq

44,
pressure (1013 x 10° Nm™} requires 54 cal of

heat energy to convert to steam at 100°C. IF the
volume of the steam produced is 167-1 ce, the
change in internal energy of the sample, is

(1) 10437 F%ﬁ' AU=a-t -
(2} 20873 ™ ot _ &k
(3 d422d b= Bh

(4) 845J

Two wires are made of the same material and
hanﬂ:unmuwhmaThaﬁrmﬂrehu

m—m:lim:lu:nﬂﬁ.]fthalmgthnﬂhaﬁmt

wire is increased by Al on applying a force F,

how much force is needed to stretch the second

mhjthaaam-&mnm}ﬂ Aad = Fly o=t
[ AE

A solid aphere is in rolling motion, In rolling
motion & v poasesses translational ktrmtle?
energy (K,) as well as rotational kinetic energy

(K,) simultaneously. The ratio K, : (K, + K,) for

the sphere iz Lty L Ew™ T

d ! a .- T T
oI 710 MR .Y e 1.1;5..,(‘,,
@ 5:7 Lo

(8) 10:7 _L++++-E
(4) 2:5 L.F?f—c }_, 3 (v ':HLHu"J

Ifﬂ:amun!‘rha&mwuatauhmmﬂer
and the uni

tfm?ﬁm%wm‘"m of -the
owing iz nel correet 7 1:?_4

i1} Eamﬂmpamﬂﬂ.llt&ﬁar
{2) Walking on the ground would become more

gF Ajdrs b Axe difficult. i
@ 6F Al=3AkL obi_ Fi ligAl - (3 Time period of a simple pendul the ¢
@ «F L1 o ek W Earth would decrease. f.-.wfﬂ--
% LY R - 3
i F _].ﬁf‘ ‘g’ on the Earth will not change.
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46. Which of the following is an amino acid derived
hormone ?

M
(2)
(3)

Epinephrine
Ecdysone
Estradiol

{4 Estriol

47. Which of the following structures or regions is

mr‘;m-l'__._b paired with its function 7
{1}  Medulla oblongsta :  controls respiration
and cardiovaseular
refllexes.

congista of fibre
tracts that-
interconnect
different regions of
brain; controls
maovement.

production of
releasing hormones
and regulation of
temperatore,
hunger and thirat.

I:-alﬂ of fibers

connecting left and
right corchral

hemispheree,
48, The transparent lens in the human eye is held in
it place by
M) ligaments attached to the eiliary body
i2) ligaments attached to the iris
smooth muscles attached to the iris
smooth muscles attached to the ciliary body

d}]’ Limbic gystem

(3  Hypothalamus

4]  Corpus callosum

(2}
(4}

60, Ciliates differ from all other protozoans in

(1}  using flagella for locomotion

(2} having a coniractile vacoole for removing
excess waker
(3)  using pseudopodia for capturing prey

having two types of nuclei

\./HJ
51, Ildontify the wvertebrate group of animals

characterized by crop and gizzard in its digestive
system.

(1)  Amphibia
{2)  Reptilia
L}m Aves

(4) Osteichthyes

62. Which of the following organieme are known as
chief producers in the oceans ¥

i1} Dincflagellates

i} Diatoms

i3  Cyanobactera

i4) Euglenoids

53. Which one of these animals is net a

hemeotherm 7

(1) Macropus

AT Chelone

3) Camefug

4)  Psittacula

54. Which of the following animals does'maf undergs
metamorphoais 7 )
AT Barthworm ,
{2} Tunicate
Moth -
Starfish

(3}
(4)

85.  Which of the following features is used to identify

48. Which of the following hormones can play a
male cockroach C
significant role in osteoporosis 7 u:ﬁ miiess nfﬁﬂl;:tfamdamnhmmm:?
{1} Aldosterone and Prolactin gl nhﬂnmin:'[ segment o o
{21 Progesterone and Aldosterone (%) Presence of caudal styles
42T Estrogen and Parathyroid hormone (3) Forewings with darker tegmina
{(4) Parathyroid hormene and Prolactin (4} Presence of anal cerci
ACHLA/DD/Page 8 SPACE FOR ROUGH WORK English



67,

69,

S

60,

v{.ﬂ'j

Which one of the following population
interactions is widely used in medical scence for
the production of antibiotics ?

{11 Commensalizim
H,LE'J
(41 Parasilism

4)  Amensalizm

Blutualism

All of the following are included in ‘Ex-situ
canservation’ except
(1} Wildlife safari parks
1_.{,:I*}' Bacred groves
(3} Botanical gardens
{4] BSeed banks
Match the items given in Colummn 1 with these in

Column I and select the correctd oplion given
balow :

Colwmn | Column Il
a. Eutrophication .  UV-B radiation
b. Sanitarylandfill 1 Deforestation
¢.  Snow blindness  iii.” Nutrient
enrichment
d. Jhom cultivation 1v. Waste disposal
" b € d
(1} u 1 1l i
{2) 1 it 1w i
iii v i 1
4 -1 ii iv il

In a gwun of a country,

pre-reproductive individuals are more than

the reproductive individuals. y

{2} reproductive individuals are less than the
post-reproductive individuals,

(3} reproductive and pre-reproductive
individuals aré equal in number.

(4) pre-reproductive individuals are less than

Which part of poppy plant is used to obiain the

drug "Smack” ?

(1} Flowers

Latex

(3) Roots

(4} Leaves

1.

63,

A

J;ET

Hormones gecreted by the placenta to maintain

Pregnancy are

L}H‘ hCG, hPL, propestogens, prolactin

(2)  hCG, hPL, eatrogens, relaxin, oxyiocin
(3}  hCG, hPL, progestogens, estrogens

4}  hWOG, progestogens, estrogens,
glucororticoids

The contraceptive 'SAHELL

(1)  blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.
in¢reases the concentration of estrogen and
prevents ovulation in females.

(3) iz an 1D,

(4} is & post-coital contraceptive.

The amnion of mommalian embrye i= derived
55 -

(1} ectoderm and mesoderm

i2) endoderm and mesoderm

(3) mesoderm and trophoblast

(4) ectodermy and endoderm

The difference between spermicpenesis and

gpermiation is

(I} In spermiogencsiz spermatids are formed,
while in spermiation aspermatozoa are
formed. ,

(2)  In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed. ¢

{(3) In spermiogenesis spermatozos from sertoli

cells are relepsed into the cavity of .

seminiferous tubules, while in spermiation
spermatozoa are formed.

In spermiogenesia spermatozoa are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of
seminiferous tubules.
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635. Which
represents the lung conditions

of the following
in asthma and

emphysema, respectively ?

options  correctly

68.  Match the items given in Column I with those in
Column T and select the corree! option given

IL/LM Inflammation of bronchinles; Decreased Meio : -
reapiratory surfacy Column [ Column I
(2) lﬂ.".".t":'.lﬂﬂ-‘-"d namber of bronchioles; Increased i Gl i T Sokdon ol aid
respiratory surface acid in joints
{3) Increased respiratory  gurface:
Inflammation of bronchioles b.  Gout ii. Mase of erystallised
(4} Decreased respiratory  surface: salts within the kidney
Inflammation of bronchioles ¢ Renalcaleuli i, Inf] G2
€6. Match the items given in Column I with those in glomeruli
Column IT and select the correct option given d  Glmerular jv, P of gl i
below : nephritis urine
Codaermm J Column IT
8.  Tricuspid valve i  Between left atrium o = = d
and left ventricie (1) i i iv i
b.  Bicuspidvalve ii. Between right 2 i ii ifi iv
ventricle and x: . .
iy articy (3 i Tu | |r
c.  Semilunar valve iii. Betwesn right V}}‘ v ' " "
atrium and right . i, P . : o
vambcbils 89.  Match the items gven in Column 1 with those in
& b o Column IT and select the correct option given
o : = helow :
L{_,.H} iii i ii
(2 i 1 1 Column [ Column I
(3 i ii iii (Function) (Part of Excretary
4 i i i Syatem)
87. Maich the items given in Column T with those in & Ultrafiltration L Henle's loop
Column 1T and select the correct option given b.  Concentration ii, Ureter
below - of urine .
Ol ] Column IT t.  Transport of iii. Urinary bladder
o Tidal volume . L 2600 - 3000 mL urine 1
b.  Inspiratory Reserve i, 1100 - 1200 mL d.  Storage of urina v Mudwiki
volume . corpusele
¢.  Expiratory Reserve ifi. 500 - 660 mL v Proatad
volume _convoluted tobule
d.  Residual volume . 1000 - 1100 mI,
a b (] d
a b e d
i i ; ” (1) v v i lli
. oAl B S
@ i iv ii i (8] v iv i i
(4) v ik i i 4 w iv i iii _
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70. Which of the following events does molf ocour in

rough endoplasmic reticulum 7

(1) Frotein folding

(2] Protein glvecsylation

(4] Cleavage of signal peptide
h}ﬂ Phospholipid synthesis

Which of these stalements is incorrect 7
i

7L
Enzymes of TCA cyele are present in
mitechondrial matrix.

Glyeolysis occurs in cytosol.

Glyeolysis operates as long as it is supplied
with NAD that ean pick up hydrogen atoms.
Oxidative phosphorylation takes place in
puter mitochondrial membrane,

(2]
(d)

Ve

72, Nissl badies are mainly composed of
(1) Proteins and lipids

(21 DNA and RNA
i3) Nucleie acids and SER
{4) Free ribosomes and RER

8. Which of the following terms describe human

dentition 7
(1}  Theecodont, Diphyvedont, Homodont
42T Thecodont, Diphyodont, Heterodont

(3] Pleurodont, Monophyedont, Homodoent

{4} Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

{1} Lampbrush - - Diplotene bivalants
chromosemaes

{2) Allosomes - Sex chromosomes

(8) BSubmetacentric — L-shaped chromososmes
chromosomaes

y Polytene ~ Docytes of amphibians

chromosomes

75, Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of nbosomes are

76. All of the following are part of an operon excepr!
(1} anoperator
(2}  mtructural genes

VH.I' an enhancer

{4) a promoter

Match the items given in Column [ with those in
Column 11 and select the correel option given
below :

Codumn I
6. Proliferative Phase i.

Column [T

Breakdown of
endometrial
limirgs

i Fn'l]im].u.r_ﬂ:mue
iii. Lutes] Phase

Secretory Phase
Menstruation
a b [
(1}
(2} 1
L'y-i—l' ii
(4 iii
According to Hugo de Vries, the mechanism of
evolution is
(1}  Multiple step mutations
..’,152} Saltation
(3) Phenotypic variations
(4) Minor mutations

i
it L

=

8.

A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
iniheritid e
(1)
(2)

Only daughters
Onaly sons

(3)  Only grandchildren
LA Both sons and daughters

B0. AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

termed as sequence of the transcribed mRNA ?
L) Polysome (1} AGGUAUCGCAU
(2)  Polyhedral bodies (2) UGGTUTCGCAT
{3) Plastidome (3} ACCUAUGCGAU
i4) Nucloosome _-Hm UCCATTAGDGTIA
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81. Which of the following gastric colls indirectly |85

—_

help in erythropoiesis ?

(1} Chief cells
2} Mucous cells
(31  Goblet eells

quF Paristal cellz

82. Match the items given in Column I with those in
Column II and eelect the correct oplion given

below :
Column T Column It

a. Fibrinogen i Osmatic balanes

b.  Globulin i, Blood clotting

e Albumin fii. Defence mechanism
a b e

1) i i i

2 i il i

(@ i 1ii ]

L{j;l_ ii iki i

B3. Which of the following
respiratory disorder 7

(1}  Anthracis
‘_,,un‘ Silicoais

(3} Botulism

{4) Emphysema

i an occupational

84. Calcium is important in skeletal muscle
eontraction because it
‘./{J‘J bindstutrﬂpuninlnrﬂnnwthemaﬂ:ing:uf

AT}

7.

Which of the following

disease ?

(11 Peoriasziz

{2} Rheumatoid arthritis

Alzheimer's dizease

Vitilige

Among the following sets of examples for
ive ion, =elect the incorrect option

i1} Forelimbs of man, bat and cheetah

(2] Heart of bat, man and chestah

is ot BT
S0l an autoimmune

4}

L 43" Brain of bat, man and cheetal

41 Eye of ectopus, bat and man

Conversion of milk to curd  improves
nutritional value by increasing the amount of -

its

(2} Vitamin A

A48 Vitamin B,

B8,

(4} Vitamin E

In which disease does mosquite tranamitted
pathogen cause  chronic inflammation of
lymphatic vesgele 7 =

\__,.'3]"" Elephantiasis

(2)  Ascariasis

3}  Ringworm disease

4} Amdehiasis

The similarity of bone structure in the forelimbs
of many vertebrates is an exammple of

Lﬁ Homology

(2} Analogy
(3)  Cenvergent evolution
4} Adaptive radiation
Which of the fallowing characteristics represent
Tnheritance of hlood groups’ in humans 7
" Dominance

Active sites on actin for myosin. e Codid
(2] activates the myosin ATPase by binding to v Multiple allele
- Ik d.  Incomplete dominance
(8) detaches the myosin head from the actin e.  Polygenic inheritance
filament. (1) b,cande
4}  prevents the formation of bonds between 4 a,band e
the myosin cross bridges and the actin (3) b,dande
filament. i4} o, ecande
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91. Which of the following flowers only once in its
life-time 7
.L,ﬁ"'!- Bambaoo species
(20 dackfruit
i3) Mango
(4} Papaya

92, Which of the following pairs is u.mn;.l';
matched 7

Starch synthesis in pea  ; Multiple alleles
{2)  ABO blood grouping i Co-dominance
(3 X0 wype sex . Grasshopper

determination
{4) T.H. Morgan

83. Select the correct statement ;
{1} Franklin Stahl coined the term “linkage”,
v!jr_) Punnett square was developed by a British
eciantist,
{3} Splicessomes take part in translation
{4} Transduction was discovered by 5. Altman.
84. The experimental proof for semiconservative
replication of DNA was first shown in
{1} Fungus
21 Bacterium
(3} FPlant
(47 Virus

5. Offsets are produced by
(1)  Meiotic divisions

: Linkage

88. In India, the organization respousible for
azaessing the safety of introducing geuehr_'i]l_l.f
modified organisms o public uge is

(1) Indian Council of Medical Research (ICMR)

12} Cooneil for Seentific and  Industrial
Hesearch (CEIR}
{3} HResearch Committes on Genetic

Manipulation (RCGM)

LL-BJ-" Fenetic Enginsering Appraisal Committes
(GEAC)
99, Which of the following is commonly used as a

yector for introducing & DNA fragment in human
Jymphocytes ?

vj.]-]- Retrovirus
i2) Tiplasmid

(@) A phage
{4) pBR322

Reaction (POR) is
i1} Extension, Denaturation, Annealing
(2}  Annealing, Extension, Densturation
(3}  Denaturation, Extension, Annealing
w!y Denaturation, Annealing, Extension
101. A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time, This is related to

1. The eorrect order of steps in Polymerase Chain

-._..f[’:; mnmrj::rm i1} Co-687
: (4) Parthenogenesis 2y Sharbati Sonora
88, Which of the following has proved helpful in {8y Lerma Rojo
prastrving pollen as fossils ? L& Basmati
E;: Phl]mu_tt_ . ne - :
Cellul mtase lect G orrect match :
(3 ﬂﬂm:];-t AT Ribozyme - ~Nucleic arid
Sporopollenin (2) Fyx Recessive parent -~ Dihybrid cross
o7 ‘-{:-:ﬂtthamm.td: (8 T.H Morgan —  Transduction
: . 4) G Mendel —  Transformation
effreys — Streptococe .
s pmfmnh:‘ 103. Use of bioresources by multinational m;i:nﬁ
* Alfred TMV and organisations without authorisation
= Marmﬂrﬁf o concerned country and its pecple is called
v : 1 E_ infri £
(3) MatthewMesolson  — Pisum sativum () Bioinfringamen
and F, Stahl A2 Biopiracy
J** Francois Jaccb and  — Lac operon (3)  Biodegradation
Jacques Monod (4) Hicexploitation y
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104, Natality refers to

wi!  Death rate

2 Birth rate
(3} Number of individuals leaving the habitat
4] Numbar of individuals entering a hahitat

105. Nichea iz

(1} all the bielogical factors in the organism's

EOVironment

{2}  the physical space where an organism lives
(3} the range of temperature that the OFganism

needs to live

"\./n where it lives

106. What type of ecological
obtained with the following data 7

Secondary consumer : 120
Primary eonsumer - Bg -
Primary producer - 10 ¥ —

(1} Inverted pyramid of biomass

(2} Pyramid of BNy

t3)  Upright pyramid of numiberg

(4)  Upright pyramid of biomass

107,

release of molecular oxygen 7

the functional role played by the organism

Pyramid would be

In stratosphere, which of the following elements
acts a5 A catalvst in degradation of orane and

(1) hydroxyl and methyl
(2)  earbonyl and methyl
(3)  carbony] and Phosphates
4} earbonyl and hydroxyl
111, Which among the following is mot a prokaryote 7
Saecharomyees
(2} Mycobacteriym
(3] Nostoe
1) Oseillatoria
112. Stomatal movement i not affected by
(1} Temperature
(2} Light
{3) Oy concentration
4) €O, concentration
Which of the following is ot product of light
resction of photosynthesis ?
(1) ATP

2 NADH

i3} NADPH
(4] Oxypgen
114. The Golgi complex participates i
(1) Fatty acid breakdown
w4t Formation of secretary vesicles
(3}  Respiration in bacteria

113,

(1}  Carbon (4] Activation of aming acid ¥
ol 115, Which of the following is true for niucleolys ?
(3 Fe (1} Larger nudmljmpreue.ntindiﬂ:lingmllu.
(4)  Oxygen (2) Nisa membrane-bound structurg,
= 1'._,,J‘,-vl'rII:iuallitnii:rr1||:*|:I-||-u,l'ill-ﬂlahlm...]II:I!'M
(1) 5" June |_ gynthesis,
T LT 118. The stage during which separation of the paired
( 1™ April homologous chromosomes begins is L
(8)  16™ September” (1) Pachytene
nd 5 . « 42 Diplotene
41 2 |
4) 22™ Apri (3) Diakinesis
- 8 “’hjd:nfthefnﬂnwinghammndurymﬂuunﬂ (4) Zygobene
(1) CoO 117, Stomata in grass leaf are
® co, {;; E|3|'|L_:.1‘:];:-:::;.--Flznﬁ].l' shaped
( shaped
80, (3 Reetangular
() 0Oy T}  Barrel shaped 4
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118, Casparian strips occur in

{1)  Epidermis
{21 Pericycle
(3] Cortex

,d:p" Endosdermis
119. Plants having little or no secondary growth are
h‘jt:l Grosses
(2} Deciduouns angiosperms
(3) Conifers
i4) Cycads
120. Pneumatophores oceur in
J.Ll’l' Halophytes
(2}  Free-fleating hydrophytes
(3) Carnivorous plants
(4} Submerged hydrophytes
121. Sweel polato is & modified
i1} Stem
Adventitious root
(8} Tap root
(4} Rhizome
122. Secondary xylem and phloem in dicot stem are
produced by
i1} Apical meristems
Vaseular cambium

Phellogen

125. Winged pollen grains are present in
(1) Mustard

(2) Cycas
(3}  Mango
u_;gﬂ Pinus
126. After karvogamy followed by meiosis, spores are
produced exogenously in

(1) Newrogpors
(2} Alternara

L/-m Aparicus

4] Saccharomyces

127, Match the items given in Colummn 1 with these in

Column II and select the correct option given
below :
Column [ “Oodumn I
‘a. Herbarium i. Itisa place having a
' collection of preserved
plants and animals.

k. Eay ii. A list that snumerates
methodically all the
gpecies found in an area
with brief description
aiding identification,

€ Museum iil, Isa place where dried and

pressed plant specimens
mounted on sheats are

i4) Axillary meristems kept.
128. Which of the following statements is correct 7 d, Catalogue v, .&hﬂﬂk.lﬂmtﬂ-inlﬁla]iut
Ovules are not enclosed by ovary wall in of characters and their
MmO paErn. alternates which are
(2)  Selaginelln is heterosporous, while Salvinia helpful in identification of
i& homosporous, ; various taxa.
{3) Horsetails are gymnosperms. a b c d
(4) BStems are wsually unbranched in both 1 i iv fii i
Coenn st Codrt, @ W@ % 1 i
124. Select the wrong statement : @ i " B
(1)  Ceoll wall iz present in members of Fungi ,U_"I;l-]ﬂ it iv i i
0 Flantes. 126. Which one is wromgly matched ?
(2) Mushreoms belong to Basidiomycetes. Umi.e tfar . i 'H »
(3) Pseudopodia are loco and feeding Hiftapeliste gtmples e
; s (2) Biflagellate zoospores — Brown algae
gtructures in Sporozoans. (3] i R
i4) Mitochondria are the powerhouse of the cell L -
in all kingfloms except Monera. (4} Unicellular organism - Eﬁiﬂﬂuﬂ.
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129, Which one of the following plants shows a very
close relationship with a species of moth, where
nene of the two can complete its life cycle without
the other 7
i1y Hydridla

#12)  Yucca
(3] Banana
i4) Viaola

130. Pollen grains can be stored for several vears in
liquid nitrogen having a temperature of

(1} =120°C

(2) -80°C
A8l —186°C

4) =160

131. Which of the following elements is responsible for
maintaining turgor in cells 7
(1) Magnesium
(2} Sodivm
I Potassium
{4) Caleium

132. Dwouble fertilization is

(1} Fusion of two male gametes of & pollen tube
with two different eggs
(2)  Fusion of one male gamete with two polar
nuclei
3} Fusion of two male gametes with one g
M Syngamy and triple fusion

133. Oxygen is not produced during photesynthesis by
‘/,H'J Czreen sulphur bacteria

136, Which of the fullowing statements is not true for
halogens ?
} All form monobasic axyacids.
(i}

S

4]

All are oxidizing agents.

All but fuorine show positive oxidation
states.

Chlorine has the highest electron-gain
enthalpy, ;
187. Considering Ellingham dingram, which of the
following metals can be used to reduce alumina ?
{1) Fe
Zn
(31 Mg
(4 Cu

138. In the structure of CIF, the number of lone pairs
of electrons on central atom ‘C1' is i

(1) one 1}9%[‘1; :
-.;,Jiﬂf two 1-

(2} four

(4]  three

laﬁ.T'humranurdernfutnmicmdﬁingrmpla

elements is FEEm— e

1) B<Al=In<Ga<Tl

(2} B<Al<Ga<In<Tl

(3) B<Ga<Al<Ti<In

) B<Ga<Al<In<Tl

{2} Nozioe
(3) Cycas 140. The correct order of N-compounds in jts
(4) Charg _dmumg‘ order of oxidation states is
134. What is the role of NAD® in cellular| A HNOs NO, No NH,C)
respiration ? (2) HNOg NO, NHCL N,
(1) It funclions as an enzyme. HN
{2) It functions as an electron carrier. ) 3 NH,CL, NO, N,
(8) Itis a nucleotide source for ATP synthesis, 4} NH,CI, N, NO, HNO,
(4] Tt is the final electro fo
el ARMSRAr for Mkesoblc | 4t Wit ane of the following elements is unable to
185. In which of the following forms is iron absorbed form MFg ~ion ?
* by plants ? (1) Ga
(1) Perric
(2
{2) Ferrous !
(3) Free elemant J& B
A4 Both ferric and ferrous @ In
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142. The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give disthyl sther, A B and C are in the order

CyHOH, CyHj, CoHLCI
C,HOH, C3H,Cl, C,Hz0Na
CyH,CL CyHg, CH0H

(9~ C3H;OH, CH;ONa, C;H,CI

(1}
(2)

()

143. Hydrocarbon (A} reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz reaction iz converted (o gaseous

hydrocarbon containing less than four earbon
atoms. (A) is EHy k-

(1) CH=CH ;H;L"”i

(2) CHy=CH,

{3 CH,-CH,

\}p" CH,
144, The compound C.Hg undergoes the ﬁ:ﬂn{gng
roactions ! 1o

Zn { HCL
B -C

|

301,/A

Bry/ Fe
+Hg A -

-
The product ' is ‘{’,5‘
(1)  m-bromotelusne

(2)  o-bromotoluene

(a8 E-hrl;mn-ﬂ.l,ﬁ-h'ichlarm»lmna
{4}  p-bromotoluene

oAl
>
uy

145. Which oxide of nitrogen is mel a commen
pollutant intreduced into the atmosphere both

Goro )
146. Following solutions were prepared by mixing
dilferent volumes of MalOH and HCI of different

concentrations : Moo = A=
bl = A
a. B0mL o m:n-:uleEﬂ NaOH
M N RSk :‘
b. 55mL — HCl+45mL — NaOH_, L e
i 10 10 2 i
M M L
[ TEmLE-Hﬂl+15mL—HaﬂH ph"-ldj'lﬂ;
]
d.  100mL M Hels100 mL M Naou'22 PR 2
10 10 C x;

pH of which one of them will be equal to 17 - 75§ 02415

M b S —"_.;‘w 1 % -3
(2 a 0 -\
@ d rl__,,;wf fed
At %2

147. On which of the following properties does the
coagulating power of an 1on depend 7

(1} The magnitude of the charge on the fon
alone ” I'-..‘l-#i'; = ™
(2}  Size of the ion alone ;] L2832 =}
{3) Both magnitude and sign of the charge on
the ion or AIxIS Px)
e
i4) The sign of charge on the i on glone®-2 _4. e
LY LSS —|xle
14B. The solubility of HE.S’D‘,‘I in limr is
242x107 gL' at 208K The wvalue of its
solubility product (K,) will be

(Given molar mass of BaSO, = 233 g mol )
LT e —y Bl 5847

W 108 x 1070 mat® L7 g r
21 108x10° 2 mal® L2 I(‘I"" lq" I-!j"
(3) 108 x 107 mol® 12 fvies) =

(4) 108x 107 mol® L2

149, Given van der Waals constant for NH;, Hy, O,
and €O, are respectively 4:17, 0-244, 1-36 and

due to natural and human activity ? 359, which one of the mimmmmﬁ
(1) N0, V?Mﬂ?
(2) NO, i
2 H
3
(3 NyO (3} 0y
(4) NOw~ (4 O,
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150,

Column [ Colprnn 11
a Co™ i J8 BM
b, Crf* ii, 36 BM. :
HARR
e. Fe i, V3 BM
d Ni* iv. J24 BM. VALY
i 1 1v.
5 II'_"'I
v. 16 B.M, {};5_-._'_
a b c d
1w v 1] 1 U.—-—-'—'_
v L
{2y i i il iv in
W v i ii. - e
(4] i v i i "E'S_‘Fri
oww i
151. lrem carbonyl, FelCO); is T
(1) tetranuclear Yaey
(2} mononoelear
(3) trinuclear
{4) dinuclear
152. The geometry and magnetic behaviour of the

163,

154.

Match the metal long given in Column T with the
spin magnetic moments of the ions given in
Column 11 and assign the correet eode -

complex [Ni(CO)Jare 10 0 1 1+ ) 1y o
(1}  square planar geometry and diamagnetic
2}  tetrahedral geometry and diamagnetic

(3}  square planar geometry and paramagnetic
(4) tetrahedral geometry and paramagnetic

Which one of. the following ions exhibits
d-d transition and paramagnetism as well 7

(1) crof
-
Crg0;
MnO]
5.
Mno?

(2)
(3}
(4}

The type of isomerism ahm I::r the complex
[CoClylenly] is -

(1)  Geometrical isomeriem

(2) C-Dl}rdinlhm:mmemrm

(3} Tonization iscmeriam«

4] Linkage isomerism .

155. Identify the major products P, @ and R in the

156.

following sequence of reactions -

Anhydrous
@ + CHyCH,CH,c1 — 2,

(i) Oy

P o AR
P Q R
CH,CH,CH; CHO @
A @ . . CH,CH, - OH
CH,CH,CH;  CHO
-3 .88
CH(CH,), OH
(3 U i g , CHyCHIOH)CH,

OH
CHICH,),
) U ‘ ~ CHy-0O-CH,4

Which of the following compounds can form =
Twittarion 7

(1) Aniline
Acetanilide
Benzoic acid

(2}

(3 RSk

L4 Glycine W-— llr'—HHu-
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157. Which of the following moelecules represents the

order of hybridisation sp®, EFI?. sp, sp from left to

right atoms ?
(1) HC=C-C=CH

LHJ;VEHE-QH-EE:JH

(3] CHy=CH-CH = CH,y
(4) CHg-CH = CH -CH,

158. Which of the following carbocations is expected Lo
be most stable T

N,

(1)

Y H

NO,

” 3
oF
o by

158, Which of the following is correct with respect to
- I effect of the substituents ? (K = allkyl}
1) =-NHz<-OR<-F

160. Magnesium reacts with an element (X} to form an
inmic compound. If the ;:L-n:mnd -ttalq.t electronic
configuration of (X} is 1s* 2s° Eju the 31|n|-|![=,5!§

formula for this compound is 2N Miﬁ;dp';u-r_
(1 MggX, & &
{2) MgX,
(3 MgX
S MKy

181. Iron exhibitiz ber structure at room temperature.
Ahove 900°C, it transforms to foe strocture. The
ratio of density of iron at room temperature to
mltﬂtmtummwm atomic
radii of iron remains constant with temperature)

is dad 2 ripeh
V3 Ly

(1) = ﬂ:j_
g

R ey

(2) Y 3;1
343

(3) Y
1

o

162, Which one is a wrong statement 7
(1) Total orbital angular momentum of electron
in ‘¢’ orhital is equal to zero.
{2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers,

The electronic confipuration of W atom i
12 95 2 20} %)
ti [ty [t

(4) The value of m for d_2 is zero.

183. Consider the following species :
CN*, CN™, NO and CN
Which one of these will have the highest bond

—
(m No 25
~ <=0R<-F
2" —NR, < i
{3 -NH;>-OR>-F () et
{4} -=NBy>-OR>-F 4) “CN
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164. In the reaction 167. The correct difference botween first- and
secapd-order reactions is that
OH O™Na \%ﬂm rate of a first-order reaction does oot
CHO depend on reactant concentrations; the rate
+CHCly + NaOH —— | o of a eecond-order reaction dees_depend on
reactant concentrations
the electrophile involved is (2} the half-life of & first-order reaction does not
& depend  on [Alg: the halflife of &
(1} dichloromethy] cation ( CHCly ) second-order roaction does depend on 1A,
- 13 a first-order reaction can be catalyzed; a
(2) formyl cation ( CHO } second-order reaction cannot be eatalyzed
; . * the rate of a first-order reaction does
(3} dichloromethy] anion {CHCly) jepond on reactant concentrations: the rate
. . of a second-order reaction does not depend
\_(4h—dichlorocarbene (:CCl,) et ety
165. Carboxylic acids have higher boiling points than | 100 Among CaHy, BeH,, BaH,, the order of jonic
aldehydes, ketones wsnd even sleshols  of chasatler is 2
comparable molecular mass, It is due to their \1} BeHj < CaH, < BaH,
. 2 C Be
1) formation of intramolecular H-bonding (%) CaH, <BeH, < BaH,
_ . 5 g (3) BeH, < BsH, < CaH,
(2] formation of carboxylate ion ¥ = (41 BaH, < BeH, < CaH,
(3} more extensive association of carboxylie
acid via van der Waals force of attraction 189. Consider the change in oxidation state of
. . Bromine corresponding to different emf values as
y formation of intermolocular H-bonding shown in the diagram below -
-~ 1'B2VW - OW
168. Compound A, CgHyg0, is found to react with F-EG‘ *BEUa -lu. -3
!'il.fal‘.'_ll {produced by nfm_:ﬂng ?_'_F-':Ith NaOH) ‘and By~ Br
yields a yellow precipitate with characteristic = 10862V & 1506V
aqmell. g Then the species undergoing_dispropartionation
A and Y are respectively  MaoT. i
Ct (1) BrOg
(d] Br:
@ ¢ ) CH,-CH,- OH and1, P TR
(A} @—ﬂﬂ-ﬂl{smd I 170. In which case ig the number of molecules of water
| maximum ? lote 5 rr g
OH (1) 18 mL of water L i,
. Tt i
CHy (2 018 g of water =5 .01 we T
00224 L of i
(4) Cﬂs—@ OH and I, ‘L'I'HJ g’i’ﬂﬂ gL.n-u::tﬂr vnpn:n WL
2
(4) 107 mal of water
A
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171,

172,

174.

174.

Regarding cross-linked or petwork polymers,

which of the following statements is incorrect ?

{1} They contain covalent bonds between

various linear polymer chains,

They are formed from bi- and tri-functional

MOGOGmErs,

(3) Examples are bakelite and melamine.

w,ﬂ They contain strong covalent bonds in their
polymer chains.

NMitration of aniline in strong acidic medium also

gives m-pitroaniline beeause

{1} In spite of substituents nitro group always

goes to only m-position.

In electrophilic subslitution reactions

amino group i meta directive.

In shsence of substituents nitro group

always goes to m-position.

In scidic (strong) medium aniline is present

s anilintiim 164,

Which of the following oxidea iz most acidic in
nature ¥

(1) MgQ

12)
1]
idh

(2}

{2}
(3]

4}

BaD
CaD

The difference between amylose and amylepectin
is

{1) Amylopectin have 1—+4 c-linkage and

1— 6 o-linkage

2y Amylose have 1-+4 o-linkage and
1 — 6 p-linkage

Wﬂﬁﬁn have 1 — 4 olinkage and
1 = 6 f-linkage

{4} Amylose is made wup of glucose and

galactoss

Lp0uM Ve
o b

175. A mixture of 23 g formic acid and 4-5 g oxalic

acid iz treated with conc. HzSO, The evolved
gaseous mixture is passed through KOH pellets,
Weight (in g) of the remaining preduct at STF
will be

176. For the redox reaction

MnO; -rﬂiﬁf' + HY

the correct coefficients of the reactanis for the
balanced equation are

» Mn** + COy + HO

MnQ] C,00- H
(1) 16 ] 2
(2) 2 5 16
3 2 16 B
4) 5 16 2
177. The correction factor ‘a’ to the ideal gas equakion
corresponds to
{1)  density of the gas molecules
{2) volume of the gas molecules
(3) electric field present betwesn the gas
molecules
y forces of attraction between the gas
; molecules

178, Which one of the following conditions will favour

v,.l—ll-

maximum formation of the product in the
reaction,

Ay () + By &= Xqlg) AH=-Xkl?

Low temperature and high pressure

Low temperature and low pressure

High temperature and high pressure

High temperature and low pressure

L)
{3
4)

179. The bond dissociation energies of Xy, ¥y and XY

are in the ratio-of 1 :0:6: 1. AH for the formation
of XY is — 200 kJ mol. The bond dissociation

180. When initial concentration of the reactant is

H coak « £y Moy Ao, 4Hs

doubled, the half-life period of a zero order
_reaction

(1) 14 Moy e |hl 4 () ishalved .« fo-lhe \LT-*

@ 30 oo is doubled =

@ 28 : ].r‘] W Setripled @ e

4} 44 - (4) remains unchanged 4N
—
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energy of Xy willbe Y, X X } wEE

AT 200kTmol M A ey

@ wokimer? PP i

() 800 kJ mol ™ ;,1_._-!1'-‘1"-:—#‘1‘1" L2 dxtaren -
a1

(4) 400 kJ mol™

b





